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AN ISR 0
M MFE Y B4
2 WaUAs NGB A2t (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 250,000 0 250,000
& 150,000
e 100,000
01 A& HI 248,200 0 248,200
O s3HX SFAIE W& AY 248,200,000 248,200
= 148,920
s 99,280
03 A2 2 THHI 1,800 0 1,800
S3EX SFAE HAAS
250,000,000& %0.0072 1,800
= 1,080
s 720
APSIEDIY SHAMY(2H]) 339,900 166, 364 173,536
= 271,920
< 17,016
[ia 50,964
307 21201 A 339,900 166, 364 173,536
= 271,920
< 17,016
[ia 50,964
02 22t a2 X 339,900 166, 364 173,536
O (OIBNAFZIEDIY LXiel &5
943,000& x5F 5 S X x12& 282,900
= 226,320
< 11,316
s 45,264
O (GIBI)AFZIEIIY AP ORI
11,400,000& *50 & Xl 57,000
= 45,600
< 5,700
[ia 5,700
X etd 2 S5 o 215,252 46,386 168, 866
= 168,425
[ia 46,827
Ol XIer& 2te| 215,252 46,386 168, 866
= 168,425
[ia 46,827
DRI HEX B2 =2 4,720 2,520 2,200
201 Let24E] 2,320 2,520 A 200
01 At 22l 2,320 2,520 2200
O uUXZES EES2HIHE M
66,000 *200H x 13 1,320
OouuXl 2 2= HZE 1,000,000 *13 1,000
202 OHl 2,400 0 2,400
01 = LH 4 Hi 2,400 0 2,400
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R A= PRIy
U &d & 35 o

CHelr Ol H X etd 2te] (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O WUX 2 32 g2=4a ol
20,000 «2H 122 x5 2,400
MNBIE DIAAA JHE AL (2H]) 210,532 0 210,532
= 168,425
i 42,107
403 Ut SHHSA=0l& 210,532 0 210,532
= 168,425
s 42,107
02 S| 2 S0il CH&HCH & A H 210,532 0 210,532
O M2E JtAAE HE X3 AHY
1,030AICH = 204,400 210,532
= 168,425
e 42,107
HIHO ENEX 1,090,870 2,235,380 A 1,144,510
EHmI2Y 1,090,870 2,235,380 A 1,144,510
ENmI 25 M 1,084,870 2,225,380 A 1,140,510
201 Let249H] 15,470 ,380 29,910
01 At 22l 13,670 ,380 29,710
O EXsX 22e2x ME 2,500 +2,0005% 5,000
O EXRA g & 500,000& 12 500
O 84MIA == HME 100, 000& 82 800
O EUsIAZE EEESRC=Y
70,0003 +x7H +33] 1,470
O EXNRAUNSE Sl £+
70,0003 «10Y *23] 1,400
O XK ppt S2XE WA
4,500,000& *13] 4,500
02 =224l 1,800 ,000 A 200
O SXRX 222 ¢ 2H3
4503 4,000 01 S 1,800
202 O4dl 9,000 ,600 A 600
01 = LH 4 Hi 9,000 ,600 A 600
O =%4d JI1g /X s2gs ¢l
9,000, 000& 9,000
203 YR =&l 6,000 ,000 0
03 AIMZ=XH R =AH| 6,000 ,000 0
O EXgIgRF2 6,000,000 6,000
301 et a = 19,400 34,400 A 15,000
10 HALAHI 242 19,400 34,400 A 15,000
O EXSX HoA HAB
50,000 *8H 82| 3,200
O EXRA A3 4L 24
30,000& 202 *23| 1,200
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O =dJge =38 EXNdE8s 4T 24
15,000, 000& 15,000
307 glz2+ol & 885,000 2,000,000 A 1,115,000
02 RIZHEAME R 885,000 2,000,000 A 1,115,000
O &1 XNEEXZS KB 1)
885,000,000& 885,000
401 Al HIZ 201 Y] 150,000 150,000 0
01 A& HI 148,920 148,920 0
O EXNKRIE s JIBAIE K&
148,920,000 148,920
03 AIE S THHI 1,080 1,080 0
O ENRIE A8 JIBAE TE AE20UH
150,000,000& *0.72% 1,080
SEXNEH 3N F 6,000 10,000 A 4,000
201 ¢er24| 6,000 10,000 A 4,000
03 A2 Z Hl 6,000 10,000 A 4,000
O =@ Jlge =8 EUsX €23 iz
1,500,000& x4 3] 6,000
Mobx sHE A 15 1,552,450 2,433,000 880,550
< 730,000
[ia 822,450
Mobx Stet MY |4 1,552,450 2,433,000 880,550
< 730,000
s 822,450
eBAg S MAXE(SHl) 30,000 90,000 260,000
< 30,000
402 RI2EXt20l ™ 30,000 90,000 260,000
< 30,000
01 2I2tR2E X 30,000 90,000 A 60,000
O dstF A== THHH XA (30ha)
30,000,000 30,000
< 30,000
Hetol 2 Seostetet s a2 (<) 1,400,000 1,140,000 260,000
< 700,000
s 700,000
307 21201 A 1,400,000 1,140,000 260,000
< 700,000
[ 700,000
04 QI2tHALE & 1,400,000 1,140,000 260,000
O Hetel=sgoseras Wzl X 1,400,000
< 700,000
s 700,000
Hetel=s sefelst gtgsl JletE| 64,450 0 64,450
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SRR DAL=
HaH: Morx shgt AR RE
Chel: Mok SHE MY |4

= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
201 Lt 5,450 0 5,450
01 At 22l 5,450 0 5,450
O sgostetds = g2s RERS
450& 1,000 450
O sgostetds & AW M
300,000 10X 3,000
O sgoswzs 22 #4% K
100,000& 20K 2,000
202 o4dl 9,000 0 9,000
01 = LH 4 Hi 9,000 0 9,000
O sgosteigs & 2 2 ol |FXEs
04 i 200,000& »3H «153] 9,000
401 Al HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
O eI sgostetas JlgEy]
30,000,000& 30,000
O F=x& FXEH 20,000,000 20,000
St OFE LAY AN HAY 8,000 193,000 A 185,000
301 et a s 8,000 10,000 A2,000
10 HALAHI 24 S 8,000 10,000 A 2,000
O stgorx AlZeiats], BEHA &}
4,000, 000& 23] 8,000
Mokx BheY At 50,000 50,000 0
307 glz2+ol & 50,000 50,000 0
02 QItFAE X 50,000 50,000 0
O =S8 daid 24 50,000,000& 50,000
sz Iz 37 At 3,000,000 1,300,000 1,700,000
= 2,100,000
< 450,000
[ia 450,000
sz AFAAMY 3,000,000 1,300,000 1,700,000
= 2,100,000
< 450,000
i 450,000
Ssozdy e (32u]) 3,000,000 1,300,000 1,700,000
= 2,100,000
< 450,000
e 450,000
401 Al HIZ 201 8] 3,000,000 1,300,000 1,700,000
= 2,100,000
< 450,000
e 450,000
01 A& HI ,000,000 1,300,000 1,700,000
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2 JIEXE D
MM £80/2 R o7 AY
S9l: SEOIZ ARAY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O SgozHE A1y =4 3,000,000,000& 3,000,000
= 2,100,000
= 450,000
= 450,000
M oAstE AN 1,558,160 1,695,900 A 137,740
NEEANREH 1,558,160 1,695,900 AN 137,740
AT AR RS 560,000 810,500 A 250,500
306 542 560,000 810,500 A 250,500
01 &3 560,000 810,500 A 250,500
O dANAARE 24| 300,000,000& 300,000
O et MsSAM D3 ALY
260,000,000& 260,000
StHAAMANEARHS 350,000 300,000 50,000
306 =132 350,000 300,000 50,000
01 92 350,000 300,000 50,000
O Mg isRd 23| 300,000,000& 300,000
O ALUOAHON Ao MB HLAIY
50,000,000 50,000
AEZ HAMEEY 640,000 580,000 60,000
306 23 640,000 580,000 60,000
01 52 640,000 580,000 60,000
O HAMGEAHARRE 2AH| 300,000,000 300,000
O NYESII=8288 AR A 340,000
— HA Y Mex 2A2AIsAE HEAMY
190,000,000 190,000
— Gold Care 2| - HUAZE JPLAIS
150,000,000 150,000
NEHetMasS 8,160 5,400 2,760
201 et d| 4,800 5,400 A 600
01 AP 2t 2] H| 4,800 5,400 A 600
O f3a& il 800,000 23] 1,600
O 2 AF=EHI 500,000& 23| *2H 2,000
O 2tE3 294 300,000& 43| 1,200
301 LBt A= 3,360 0 3,360
10 HAFAHI B &2 3,360 0 3,360
O /d3as 2H 3| 7,000& 120 43| 3,360
HAMSHEAY (IR 57,045 52,313 4,732
JlE&d| 57,045 52,313 4,732
Jl2Adl/JIg XA 33,301 29,729 3,572
201 Bt 21,641 20,469 1,172
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S JLXR
HI: dNM2HPH (O XK D)

¢l =gl CEE-ED
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 18,641 17,969 672
O e+t 15,281,000& 15,281
O =&l 7,0003 x4H«10L 128 3,360
02 22224l 3,000 2,500 500
O 332= £ AMA 250,000& 128 3,000
202 4l 8,160 5,760 2,400
01 = LH o4 1l 8,160 5,760 2,400
O JIgXNJAZR =& 2 A 8,160,000 8,160
203 R =&l 3,000 3,000 0
04 FN2ELRZ=TH| 3,000 3,000 0
O RN2EHRFAHI(152015t)
250,000 128 3,000
405 TtabH S| 500 500 0
01 AL ESFH S 500 500 0
O &l 28 XeHFHSHI 500,000 500
Jl23Hl/E R 5,184 4,024 1,160
201 L2l 3,024 4,024 A 1,000
01 At 22l 3,024 4,024 A 1,000
O =Sl 7,0003 «3E «12 128 3,024
202 odl 2,160 0 2,160
01 = LH o4 1l 2,160 0 2,160
O SR NFYS 22U A
20,000 *3H 3«12 2,160
23l /M= 18,560 18,560 0
201 Let2d| 8,560 8,560 0
01 At 22l 8,560 8,560 0
O #HEANRII L2257 300, 0002 =64 1,800
O S2AY =& T2t 1,000,000& »23] 2,000
O =&l 7,0003 x5 «8L x 128 3,360
O 53N 2% BMxg
70,0003 «10H *23] 1,400
202 04l 10,000 10,000 0
01 = LH Yl 10,000 10,000 0
MOF AL AR =R 2L O HI 10,000, 000& 10,000
MEES(OISXA) 870,000 1,208,000 A 338,000
HEAHHK = 870,000 1,208,000 338,000
LHEHAH X = 870,000 1,208,000 338,000
701 JIEISI AN &= 3 870,000 1,208,000 338,000
01 JIEtl AN ES 870,000 1,208,000 338,000
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2N

JIg K&t

H: WHWRES(JISXAL)
S WEAHAHX = (chel & 9l)
. = . ShE
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O s3HANSE3H dE=S 870,000,000 870,000
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